
Fopw Vol ρ= m1=

Vol vol0
1

4
π d

2
 h+=

F vol0
1

4
π d

2
 h+




ρ= m1= 0=

vol0
1

4
π d

2
 h+




ρ m1=

h
4 m1 ρ vol0-( )

π ρ d
2


= or ρ

m1

π h d
2



4
vol0+

=

h
4 m1 ρ vol0-( )

π ρ d
2


= schaal_1000 0:=

schaal_1500 8.2-:=
vol0 28:= d 0.75:=

h ρ m1, ( )
4 m1 ρ vol0-( )

π ρ d
2


:=

ρ2 1.150:=
m1 28:= ρ1 1.000:=

h ρ2 m1, ( ) 8.267-=
h ρ1 m1, ( ) 0=

ρ 1 1.001, 1.15..:=

1000 1010 1020 1030 1040 1050 1060 1070 1080 1090 1100 1110 1120 1130 1140 1150
10-

9-

8-

7-

6-

5-

4-

3-

2-

1-

0

h ρ m1, ( )

ρ 1000


